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/***************************************************** 

This program was produced by the 

CodeWizardAVR V1.25.3 Professional 

Automatic Program Generator 

© Copyright 1998-2007 Pavel Haiduc, HP InfoTech s.r.l. 

http://www.hpinfotech.com 

 

Project :  

Version :  

Date    : 11/16/2010 

Author  : F4CG                             

Company : F4CG                             

Comments:  

 

Chip type           : ATmega16 

Program type        : Application 

Clock frequency     : 11.059200 MHz 

Memory model        : Small 

External SRAM size  : 0 

Data Stack size     : 256 

*****************************************************/ 

 

#include <mega16.h>  

#include <delay.h> 

#include <stdio.h> 

#include <lcd.h> 

#include <string.h>  

 

int t,s,count; 

char text[32]; 

unsigned char string[100],text1[10]; 

unsigned char buf1,x; 

 

#define RXB8 1 

#define TXB8 0 

#define UPE 2 

#define OVR 3 

#define FE 4 

#define UDRE 5 

#define RXC 7 

 

#define FRAMING_ERROR (1<<FE) 

#define PARITY_ERROR (1<<UPE) 

#define DATA_OVERRUN (1<<OVR) 

#define DATA_REGISTER_EMPTY (1<<UDRE) 

#define RX_COMPLETE (1<<RXC) 

 

// Get a character from the USART Receiver 

#pragma used+ 

 

char getchar1(void) 

{ 

char status,data; 
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while (1) 

      { 

      while (((status=UCSRA) & RX_COMPLETE)==0); 

      data=UDR; 

      if ((status & (FRAMING_ERROR | PARITY_ERROR | DATA_OVERRUN))==0) 

         return data; 

      };      

} 

 

#pragma used- 

 

// Write a character to the USART Transmitter 

#pragma used+ 

void putchar1(char c) 

{ 

while ((UCSRA & DATA_REGISTER_EMPTY)==0); 

UDR=c; 

} 

#pragma used- 

 

void sensor(void) 

{ 

PORTA=0xff; 

DDRA=0x00; 

 

delay_ms(50000); 

 

t=0; 

      DDRA.0=1; 

      PORTA.0=1; 

      delay_us(5); 

      PORTA.0=0; 

      DDRA.0=0; 

      PORTA.0=1;  

       

       

      ulang: 

      if(PINA.0==0) 

      { 

      delay_us(10); 

      goto ulang; 

      }  

                                                                                                              

       

      while (PINA.0==1) 

      { 

      t++; 

      delay_us(1); 

      }   

      s=0.034*t; 

      sprintf(text," t=%d s=%d PIR=%d ",t,s,PINA.1); 

      lcd_puts(text); 

      delay_ms(500); 
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      lcd_clear(); 

       

      if (s<=300 && PINA.1==1)           

      { 

      lcd_putsf(" Kirim data S,PIR,GPS \n\r");       

       

     buf1=0; 

        while (buf1!='$') buf1=getchar1(); 

        getchar1(); 

        getchar1(); 

        getchar1(); 

        buf1=getchar1();  

         

        if (buf1=='G') 

        {  

          for (x=0;x<2;x++)                      

          { 

            buf1=0; 

            while (buf1!=',') buf1=getchar1(); 

          }  

          buf1=0; 

          x=0; 

          count=0; 

          while (count<=3)  

          { 

            buf1=getchar1();                    

            string[x]=buf1; 

            if(buf1==',') 

            {  

            count=count+1; 

            } 

            x++;  

          }  

          x--; 

          string[x]=0;      

          buf1=0; 

        }       

      } 

} 

       

// Alphanumeric LCD Module functions 

#asm 

   .equ __lcd_port=0x15 ;PORTC 

#endasm 

#include <lcd.h> 

 

 

// Standard Input/Output functions 

#include <stdio.h> 

 

#define ADC_VREF_TYPE 0x00 

 

// Read the AD conversion result 
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unsigned int read_adc(unsigned char adc_input) 

{ 

ADMUX=adc_input | (ADC_VREF_TYPE & 0xff); 

// Start the AD conversion 

ADCSRA|=0x40; 

// Wait for the AD conversion to complete 

while ((ADCSRA & 0x10)==0); 

ADCSRA|=0x10; 

return ADCW; 

} 

 

// Declare your global variables here 

 

void main(void) 

{   

 

int i; 

 

// Declare your local variables here 

 

// Input/Output Ports initialization 

// Port A initialization 

// Func7=In Func6=In Func5=In Func4=In Func3=In Func2=In Func1=In Func0=In  

// State7=T State6=T State5=T State4=T State3=T State2=T State1=T State0=T  

PORTA=0x00; 

DDRA=0x00; 

 

// Port B initialization 

// Func7=In Func6=In Func5=In Func4=In Func3=In Func2=In Func1=In Func0=In  

// State7=T State6=T State5=T State4=T State3=T State2=T State1=T State0=T  

PORTB=0x00; 

DDRB=0x00; 

 

// Port C initialization 

// Func7=Out Func6=Out Func5=Out Func4=Out Func3=Out Func2=Out Func1=Out 

Func0=Out  

// State7=0 State6=0 State5=0 State4=0 State3=0 State2=0 State1=0 State0=0  

PORTC=0x00; 

DDRC=0xFF; 

 

// Port D initialization 

// Func7=In Func6=In Func5=In Func4=In Func3=In Func2=In Func1=In Func0=In  

// State7=T State6=T State5=T State4=T State3=T State2=T State1=T State0=T  

PORTD=0x00; 

DDRD=0x00; 

 

// Timer/Counter 0 initialization 

// Clock source: System Clock 

// Clock value: Timer 0 Stopped 

// Mode: Normal top=FFh 

// OC0 output: Disconnected 

TCCR0=0x00; 
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TCNT0=0x00; 

OCR0=0x00; 

 

// Timer/Counter 1 initialization 

// Clock source: System Clock 

// Clock value: Timer 1 Stopped 

// Mode: Normal top=FFFFh 

// OC1A output: Discon. 

// OC1B output: Discon. 

// Noise Canceler: Off 

// Input Capture on Falling Edge 

// Timer 1 Overflow Interrupt: Off 

// Input Capture Interrupt: Off 

// Compare A Match Interrupt: Off 

// Compare B Match Interrupt: Off 

TCCR1A=0x00; 

TCCR1B=0x00; 

TCNT1H=0x00; 

TCNT1L=0x00; 

ICR1H=0x00; 

ICR1L=0x00; 

OCR1AH=0x00; 

OCR1AL=0x00; 

OCR1BH=0x00; 

OCR1BL=0x00; 

 

// Timer/Counter 2 initialization 

// Clock source: System Clock 

// Clock value: Timer 2 Stopped 

// Mode: Normal top=FFh 

// OC2 output: Disconnected 

ASSR=0x00; 

TCCR2=0x00; 

TCNT2=0x00; 

OCR2=0x00; 

 

// External Interrupt(s) initialization 

// INT0: Off 

// INT1: Off 

// INT2: Off 

MCUCR=0x00; 

MCUCSR=0x00; 

 

// Timer(s)/Counter(s) Interrupt(s) initialization 

TIMSK=0x00; 

 

// USART initialization 

// Communication Parameters: 8 Data, 1 Stop, No Parity 

// USART Receiver: On 

// USART Transmitter: On 

// USART Mode: Asynchronous 

// USART Baud rate: 4800  
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UCSRA=0x00; 

UCSRB=0x18; 

UCSRC=0x86; 

UBRRH=0x00; 

UBRRL=0x8F; 

 

 

// Analog Comparator initialization 

// Analog Comparator: Off 

// Analog Comparator Input Capture by Timer/Counter 1: Off 

ACSR=0x80; 

SFIOR=0x00; 

 

// ADC initialization 

// ADC Clock frequency: 691.200 kHz 

// ADC Voltage Reference: AREF pin 

// ADC Auto Trigger Source: None 

ADMUX=ADC_VREF_TYPE & 0xff; 

ADCSRA=0x84; 

 

// LCD module initialization 

lcd_init(16); 

 

while (1) 

      { 

      // Place your code here 

  

      for (i=0;i<50;i++) 

      { 

      PORTB=225; 

      PORTB.1=1; 

      delay_us(600); 

      PORTB.1=0; 

      delay_us(19400); 

      } 

      delay_ms(100); 

      sensor(); 

      lcd_clear(); 

      sprintf(text1,"180 derajat %s",string); 

      printf("S=%3d PIR=%d 180 derajat %s  \n\r",s,PINA.1,string); 

      delay_ms(100);  

       

      for (i=0;i<25;i++) 

      { 

      PORTB=225; 

      PORTB.1=1; 

      delay_us(700); 

      PORTB.1=0; 

      delay_us(19300); 

      } 

      delay_ms(100); 

      sensor(); 

      lcd_clear(); 
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      sprintf(text1,"170 derajat %s",string); 

      printf("S=%3d PIR=%d 170 derajat %s  \n\r",s,PINA.1,string); 

      delay_ms(100); 

       

      for (i=0;i<25;i++) 

      { 

      PORTB=225; 

      PORTB.1=1; 

      delay_us(800); 

      PORTB.1=0; 

      delay_us(19200); 

      } 

      delay_ms(100); 

      sensor(); 

      lcd_clear(); 

      sprintf(text1,"160 derajat %s",string); 

      printf("S=%3d PIR=%d 160 derajat %s  \n\r",s,PINA.1,string); 

      delay_ms(100); 

       

      for (i=0;i<25;i++) 

      { 

      PORTB=225; 

      PORTB.1=1; 

      delay_us(900); 

      PORTB.1=0; 

      delay_us(19100); 

      } 

      delay_ms(100); 

      sensor(); 

      lcd_clear(); 

      sprintf(text1,"150 derajat %s",string); 

      printf("S=%3d PIR=%d 150 derajat %s  \n\r",s,PINA.1,string); 

      delay_ms(100); 

       

      for (i=0;i<25;i++) 

      { 

      PORTB=225; 

      PORTB.1=1; 

      delay_us(1000); 

      PORTB.1=0; 

      delay_us(19000); 

      } 

      delay_ms(100); 

      sensor(); 

      lcd_clear(); 

      sprintf(text1,"140 derajat %s",string); 

      printf("S=%3d PIR=%d 140 derajat %s  \n\r",s,PINA.1,string); 

      delay_ms(100); 

       

      for (i=0;i<25;i++) 

      { 

      PORTB=225; 

      PORTB.1=1; 
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      delay_us(1100); 

      PORTB.1=0; 

      delay_us(18900); 

      }  

      delay_ms(100); 

      sensor(); 

      lcd_clear(); 

      sprintf(text1,"130 derajat %s",string); 

      printf("S=%3d PIR=%d 130 derajat %s  \n\r",s,PINA.1,string); 

      delay_ms(100); 

       

      for (i=0;i<25;i++) 

      { 

      PORTB=225; 

      PORTB.1=1; 

      delay_us(1200); 

      PORTB.1=0; 

      delay_us(18800); 

      } 

      delay_ms(100); 

      sensor(); 

      lcd_clear(); 

      sprintf(text1,"120 derajat %s",string); 

      printf("S=%3d PIR=%d 120 derajat %s  \n\r",s,PINA.1,string); 

      delay_ms(100); 

       

      for (i=0;i<25;i++) 

      { 

      PORTB=225; 

      PORTB.1=1; 

      delay_us(1300); 

      PORTB.1=0; 

      delay_us(18700); 

      } 

      delay_ms(100); 

      sensor(); 

      lcd_clear(); 

      sprintf(text1,"110 derajat %s",string); 

      printf("S=%3d PIR=%d 110 derajat %s  \n\r",s,PINA.1,string); 

      delay_ms(100); 

       

      for (i=0;i<25;i++) 

      { 

      PORTB=225; 

      PORTB.1=1; 

      delay_us(1400); 

      PORTB.1=0; 

      delay_us(18600); 

      } 

      delay_ms(100); 

      sensor(); 

      lcd_clear(); 

      sprintf(text1,"100 derajat %s",string); 
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      printf("S=%3d PIR=%d 100 derajat %s  \n\r",s,PINA.1,string); 

      delay_ms(100); 

       

      for (i=0;i<25;i++) 

      { 

      PORTB=225; 

      PORTB.1=1; 

      delay_us(1500); 

      PORTB.1=0; 

      delay_us(18500); 

      }  

      delay_ms(100); 

      sensor(); 

      lcd_clear(); 

      sprintf(text1,"90 derajat %s",string); 

      printf("S=%3d PIR=%d 090 derajat %s  \n\r",s,PINA.1,string); 

      delay_ms(100); 

       

      for (i=0;i<25;i++) 

      { 

      PORTB=225; 

      PORTB.1=1; 

      delay_us(1600); 

      PORTB.1=0; 

      delay_us(18400); 

      }  

      delay_ms(100); 

      sensor(); 

      lcd_clear(); 

      sprintf(text1,"80 derajat %s",string); 

      printf("S=%3d PIR=%d 080 derajat %s  \n\r",s,PINA.1,string); 

      delay_ms(100); 

        

      { 

      for (i=0;i<25;i++) 

       

      PORTB=225; 

      PORTB.1=1; 

      delay_us(1700); 

      PORTB.1=0; 

      delay_us(18300); 

      } 

      delay_ms(100); 

      sensor(); 

      lcd_clear(); 

      sprintf(text1,"70 derajat %s",string); 

      printf("S=%3d PIR=%d 070 derajat %s  \n\r",s,PINA.1,string); 

      delay_ms(100); 

       

      for (i=0;i<25;i++) 

      { 

      PORTB=225; 

      PORTB.1=1; 
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      delay_us(1800); 

      PORTB.1=0; 

      delay_us(18200); 

      }  

      delay_ms(100); 

      sensor(); 

      lcd_clear(); 

      sprintf(text1,"60 derajat %s",string); 

      printf("S=%3d PIR=%d 060 derajat %s  \n\r",s,PINA.1,string); 

      delay_ms(100); 

 

      for (i=0;i<25;i++) 

      { 

      PORTB=225; 

      PORTB.1=1; 

      delay_us(1900); 

      PORTB.1=0; 

      delay_us(18100); 

      }  

      delay_ms(100); 

      sensor(); 

      lcd_clear(); 

      sprintf(text1,"50 derajat %s",string); 

      printf("S=%3d PIR=%d 050 derajat %s  \n\r",s,PINA.1,string); 

      delay_ms(100); 

       

      for (i=0;i<25;i++) 

      { 

      PORTB=225; 

      PORTB.1=1; 

      delay_us(2000); 

      PORTB.1=0; 

      delay_us(18000); 

      }   

      delay_ms(100); 

      sensor(); 

      lcd_clear(); 

      sprintf(text1,"40 derajat %s",string); 

      printf("S=%3d PIR=%d 040 derajat %s  \n\r",s,PINA.1,string); 

      delay_ms(100); 

 

      for (i=0;i<25;i++) 

      { 

      PORTB=225; 

      PORTB.1=1; 

      delay_us(2100); 

      PORTB.1=0; 

      delay_us(17900); 

      }   

      delay_ms(100); 

      sensor(); 

      lcd_clear(); 

      sprintf(text1,"30 derajat %s",string); 
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      printf("S=%3d PIR=%d 030 derajat %s  \n\r",s,PINA.1,string); 

      delay_ms(100); 

       

      for (i=0;i<25;i++) 

      { 

      PORTB=225; 

      PORTB.1=1; 

      delay_us(2200); 

      PORTB.1=0; 

      delay_us(17800); 

      } 

      delay_ms(100); 

      sensor(); 

      lcd_clear(); 

      sprintf(text1,"20 derajat %s",string); 

      printf("S=%3d PIR=%d 020 derajat %s  \n\r",s,PINA.1,string); 

      delay_ms(100); 

       

      for (i=0;i<25;i++) 

      { 

      PORTB=225; 

      PORTB.1=1; 

      delay_us(2300); 

      PORTB.1=0; 

      delay_us(17700); 

      } 

      delay_ms(100); 

      sensor(); 

      lcd_clear(); 

      sprintf(text1,"10 derajat %s",string); 

      printf("S=%3d PIR=%d 010 derajat %s  \n\r",s,PINA.1,string); 

      delay_ms(100); 

       

      for (i=0;i<25;i++) 

      { 

      PORTB=225; 

      PORTB.1=1; 

      delay_us(2400); 

      PORTB.1=0; 

      delay_us(17600); 

      } 

      delay_ms(100); 

      sensor(); 

      lcd_clear(); 

      sprintf(text1,"0 derajat %s",string); 

      printf("S=%3d PIR=%d 000 derajat %s  \n\r",s,PINA.1,string); 

      delay_ms(100); 

            

delay_ms(50);       

      }; 

} 
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Public buff_ser As Byte 

 

Option Explicit 

Dim PanjangJarum As Integer                          ‘untuk panjang jarum 

Dim PusatX As Integer                                 ‘titik pusat 

Dim PusatY As Integer 

 

Sub HitungSkala() 

Bingkai.Top = 600     ‘top lingkaran 

Bingkai.Left = 240     ‘kiri lingkaran 

PanjangJarum = (8 / 10 * 3495) \ 2 '(8 / 10 * Me.ScaleHeight) \ 2         

'Hitung panjang jarum (80% dari diameter)  3495=tinggi dari pusat jari-jari 

 

PusatX = 3500 \ 2                   'Hitung titik pusat Bingkai lebarnya 

PusatY = 5000 \ 2                   'Hitung titik pusat Bingkai tingginya 

End Sub 

 

Private Sub AturJarum() 

Dim SudutJarum As String 

Dim x, y 

SudutJarum = Text1(7).Text                           'Hitung sudut Jarum 

x = PanjangJarum * Cos(SudutJarum * 3.14 / 180)   'Hitung koordinat Cartesius 

y = PanjangJarum * Sin(SudutJarum * 3.14 / 180) 

Jarum.X1 = PusatX                                      'Atur jarum Jarum 

Jarum.Y1 = PusatY 

Jarum.X2 = PusatX + x 

Jarum.Y2 = PusatY - y 

End Sub 

 

Private Sub Command10_Click() 

RichTextBox1.SaveFile Text13.Text 

MsgBox ("DATA TERSIMPAN") 
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End Sub 

 

Private Sub Command5_Click() 

If MSComm1.PortOpen = False Then MSComm1.PortOpen = True 

End Sub 

 

Private Sub Command6_Click() 

If MSComm1.PortOpen = True Then MSComm1.PortOpen = False 

End Sub 

 

Private Sub Command8_Click() 

End 

End Sub 

 

Private Sub Command9_Click() 

MSComm1.CommPort = Text9.Text 

MSComm1.Settings = Text12.Text & ",n,8,1" 

MSComm1.Handshaking = comNone 

End Sub 

 

Private Sub Form_Load() 

Call HitungSkala                          'Hitung Skala 

Me.Visible = True 

Bingkai.Visible = True                    'Buat jadi Visible 

Call AturJarum                            'Atur jarum 

Jarum.Visible = True                      'Buat jadi Visible 

End Sub 

 

Private Sub Form_Resize() 

Call HitungSkala                      'Hitung skala ketika terjadi perubahan ukuran Form 

End Sub 
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Private Sub MSComm1_OnComm() 

buff_ser = MSComm1.Input 

End Sub 

 

Private Sub RichTextBox1_Change() 

 

End Sub 

 

Private Sub Text1_Change(Index As Integer) 

 

End Sub 

 

Private Sub Text10_Change() 

 

Dim a As String 

Dim b As String 

Dim c As String 

Dim d As String 

Dim e As String 

Dim f As String 

Dim g As String 

 

a = Mid(Text10.Text, 3, 3)                ' indikasi PING 

Text1(1).Text = a 

b = Mid(Text10.Text, 11, 1)               ' indikasi PIR 

Text1(2).Text = b 

c = Mid(Text10.Text, 25, 9)               ' indikasi LATITUDE 

Text1(3).Text = c 

d = Mid(Text10.Text, 35, 1)               ' indikasi N/S 

Text1(4).Text = d 

e = Mid(Text10.Text, 37, 10)              ' indikasi LONGITUDE 

Text1(5).Text = e 
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f = Mid(Text10.Text, 48, 1)               ' indikasi E/W 

Text1(6).Text = f 

g = Mid(Text10.Text, 13, 3)               ' indikasi SUDUT SERVO 

Text1(7).Text = g 

 

End Sub 

 

Private Sub Text12_Change() 

 

End Sub 

 

Private Sub Text13_Change() 

 

End Sub 

 

Private Sub Text9_Change() 

 

End Sub 

 

Private Sub Timer1_Timer() 

 

End Sub 

 

Private Sub Timer2_Timer() 

If MSComm1.PortOpen = True Then 

Text10.Text = MSComm1.Input 

RichTextBox1.Text = Time & " ; " & Text10.Text & " ; " & Chr$(10) & 

RichTextBox1.Text 

Call AturJarum 

End If 

 

End Sub 
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Penjelasan GPS NMEA 0813 

NMEA-0183 adalah standar kalimat laporan yang dikeluarkan oleh GPS 

receiver. Standar NMEA memiliki banyak jenis bentuk kalimat laporan, di 

antaranya yang paling penting adalah koordinat lintang (latitude), bujur 

(longitude), ketinggian (altitude), waktu sekarang standar UTC (UTC time), dan 

kecepatan (speed over ground). Penjelasan lengkap www.SiRF.com. 

Output GPS :  

 

$GPGGA,002153.000,3342.6618,N,11751.3858,W,1,10,1.2,27.0,M,-34.2,M,,0000*5E 

 

 
 

$GPGLL,3723.2475,N,12158.3416,W,161229.487,A,A*41 
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$GPGSA,A,3,07,02,26,27,09,04,15, , , , , ,1.8,1.0,1.5*33 

 

 
 

$GPGSV,2,1,07,07,79,048,42,02,51,062,43,26,36,256,42,27,27,138,42*71 
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$GPMSS,55,27,318.0,100,1,*57 

 

 
 

$GPRMC,161229.487,A,3723.2475,N,12158.3416,W,0.13,309.62,120598, ,*10 

 

 
 

$GPVTG,309.62,T, ,M,0.13,N,0.2,K,A*23 
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$GPZDA,181813,14,10,2003,,*4F 
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